|
o
R

dcr/dpi [pb/rad]

107

Ratio to ATLAS

0.5

13000 GeV pp tt
[~ 1 1T 1T 1 [ttt T | | IR %
3
= pi (ATLAS for leptoquark search) = >
- 33
L 1O
N
B A
— 1o
—
—
- =
— | T+
[ i )
- —H.2
— i
— =y
— 1™
L 1<
(40)
B 1o
— -0
(49)
- -
B ATLAS . ;
— --&3-- Herwig 7.2.1 default™. — 5
- —A— Pythia 6.428 370 45
— —— Pythia 8.308 default 1<
- ¢ Sherpa 2.2.2 default 18
— %2
I
o
= =
| , | | | | | | | T | | R | I - =
:l T T T | T T T T | T T T T | T T T T |:
— -2
B _ .
L t? _
- —0.5
| " 1 " 1 1 " | " 1 1 " 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000 1500 2000

pl [GeV]



	Contents
	Page 1


